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AfH S KiE HXYUTB MARS i = o | B | B | kx| 8K | B

Sa 1-4 5-0 1-4 1 2 0 3 7 8 -1 2
Kig 4-1 2-3 1-4 1 2 0 3 7 8 -1

H X1 TB 0-5 3-2 0-6 1 2 0 3 3 13 | -10 4
MARS 4-1 4-1 6-0 3 0 0 9 9 2 12 1

B SALTZ AW TLTF ®E fs = 7 | BR|BR| kx| 8K | B
SALTZ 3-2 4-3 2-1 3 0 0 9 9 6 3 1
AW 2-3 7-0 3-1 2 1 0 6 12 4 8 2
TLF 3-4 0-7 5-1 1 2 0 3 8 12 -4 3
RE 1-2 1-3 1-5 0 3 0 0 3 10 -7 4

Cia HAYT HiEhm 7ALZ R EME i = o | Ba | B8R | k= | 8K | B
HXYT 10-0 3-1 0-1 2 1 0 6 13 2 11 2
EFisyh 0-10 3-10 2-10 0 3 0 0 5 30 | -25 4
7+ LR 1-3 10-3 4-1 2 1 0 6 15 7 8 1
EMNE 1-0 10-2 1-4 2 1 0 6 12 6 6 3
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